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INTERMEDIATE CERTIFICATE EXAMINATION, 194

MATHEMATICS (Geometry).

MONDAY, 16th JUNE.—MORNING, 10 AM. T0 123
P.M. '

The total number of questions answered should py
exceed six.

Mathematical Tables may be obtained from the
Superintendent. '

1, Prove that the area of a triangle is equal to ope
half of the area of the rectangle on the same base and
between the same parallels. _

[30 marks]

2. Draw a geometrical diagram to illustrate the
identity |
{a—by=a*>—2ab-+b* [a greater than b].

Give a short explanation showing how your diagran
illustrates the identity.
[30 marks]

3. Prove that the square described on the hypotenst
of a right-angled triangle is equal to the sum of the:
squares described on the other two sides. s
[30 marks]

4. What are the conditions necessary to ensure thaté
triangle can be constructed from three given s
lines ?

ABC is an equilateral triangle and P is any point#
the side BC. Prove that a triangle can always be formé!
with sides equal to AP, BP, CP respectively.

[30 marks]
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ove that the perpendiculars drawn from the
a triangle to the opposite sides meet in a

[80 marks.]

truct a triangle ABC such that AB==6 cms.,

L cms., AC=9 cms.

uct the circle which passes through A and C

touches AB at A,

of is required, but the constructions should
explained.]

E [30 marks.]

0 chords of a circle intersect at a point within
rove that the rectangle contained by the

fp the one is equal to the rectangle confained

nents of the other,

how this theorem might be used to construct

n straight line a rectangle equal in area to a

18 le.

[35 marks.]

ve that the internal bisector of an angle of a
ides the opposite side in the ratio of the sides

the angle bisected.

ht line is drawn dividing an angle of an

triangle in the ratio 3: 1. Find, in its simplest

the ratio of the segments into which it divides

e side.

[85 marks.]

Through a point P, 3 inches from the centre O of a

radius is 2 inches, a secant PQR is drawn
the angle OPQ=25°. Calculate the length of
OR.

[35 marks.]

b Prove that in a triangle ABE

i a_ b ¢

sinA™ sinB~ sinC

=45° and C=60°, prove that 2c=04/6,

OVe also 20==a+cv/2 and find the value of sin75°

[35 marks.]




